
GIẢI BÀI TẬP LỚP 5: BÀI 3 TRANG 119 SÁCH GIÁO KHOA 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 3: So sánh các số sau đây: 

a) 913,232413 m³ và 913232413 cm³ 

b) 12345/100 m³ và 12,345 m³ 

c) 8372361/100 m³ và 8372361 dm³ 

Đáp án 

a) 913,232413 m³ = 913232413 cm³ 

b) 12345/100 m³ = 12,345 m³ 

c) 8372361/100 m³ = 83723610dm³ > 8372361 dm³ 

 

https://doctailieu.com/giai-bai-tap-lop-5-bai-3-tr-119-sgk
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

